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Read the following passage and answer the question that follows:

The following table shows the percentage (%) distribution of teachers in six different subjects - Physics, Chemistry, Mathematics,
Zoology, Education and Hindi, in & University in the year 2022, alongwith the ratio of male to female teachers in each subject.
Total number of teachers in the subject of Physics is 446. Based on the data in the table, answer the questions that follow.

Subject-wise Distribution of Teachers

Subject Percentage (%) Ratio of Teachers

Distribution of Teachers

Males - Females

Physics 14% 93
Chemistry 13% 17
Mathematics ~ 21% 34
Z00logy 22% 9
Education 18% 3
Hindi 12% 13

Sub questions

Question Number : 1 Question Id : 22742717481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of teachers (both male and female) and the total number of male teachers in the university,
respectively?

1.3000 and 1592
2. 3200 and 1392
3. 3200 and 1508
4.3000 and 1608

Options :



22742768101.1
22742768102. 2
22742768103. 3

22742768104. 4

Question Number : 2 Question Id : 22742717482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Number of female teachers is more than 300 in exactly subjects.
- Two

. Three

. Four
Five

L kD =

=

Options :

22742768105. 1
22742768106. 2
22742768107. 3

22742768108. 4

Question Number : 3 Question Id : 22742717483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Number of teachers (both male and female) in Hindi is approximately % less than the total number of female
teachers in Mathematics and Chemistry together.

1.4359
25144
3.

281
4 48 66

[

B e =

Options:

22742768109. 1



22742768110. 2
22742768111. 3

22742768112. 4

Question Number : 4 Question Id : 22742717484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio between the total number of teachers (both male and female) in Zoology and the total number of male teachers
in Chemistry and Education together?

1.176:103

2 5141

3.101:83

4. 7159

Options :
22742768113. 1
22742768114. 2
22742768115. 3

22742768116. 4

Question Number : 5 Question Id : 22742717485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the total number of female teachers and male teachers in the University?

1. 408

2. 412

3. 416

4 42

Options :
22742768117. 1

22742768118. 2



22742768119. 3
22742768120. 4

Question Id : 22742717480 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742717481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.3000 3R 1592
23200 3R 1392
3. 3200 3R 1808
43000 3R 1608
Options :
22742768101. 1
22742768102. 2
22742768103. 3

22742768104. 4

Question Number : 2 Question Id : 22742717482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768105. 1

22742768106. 2

22742768107. 3

22742768108. 4

Question Number : 3 Question Id : 22742717483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742768109. 1
22742768110. 2
22742768111.3

22742768112. 4

Question Number : 4 Question Id : 22742717484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.176:103

2.51:41

3.101:83

47:59

Options :
22742768113. 1
22742768114. 2
22742768115. 3

22742768116. 4

Question Number : 5 Question Id : 22742717485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. 408

2. 412

3. 416

4 42

Options :
22742768117. 1
22742768118. 2
22742768119. 3

22742768120. 4

Sub-Section Number : 2
Sub-Section Id : 227427686
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742717486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

At which stage of cognitive development adolescents can think, reason and analyse beyond the realm of concrete experiences?

1. Formal operational Stage
2. Sensorimotor Stage

3. Concrete operational Stage
4 Pre-operational Stage
Options :
22742768121. 1
22742768122. 2
22742768123. 3

22742768124. 4

Question Number : 6 Question Id : 22742717486 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742768121. 1
22742768122. 2
22742768123. 3

22742768124. 4

Question Number : 7 Question Id : 22742717487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mr. Jackson wants to create a multimedia lesson on the solar system for his students. In this context, which of the following toals
would be most suitable?

1. Quizizz

2. Nearpod
3. Mentimeter
4 XMind

Options :

22742768125. 1
22742768126. 2
22742768127.3

22742768128. 4

Question Number : 7 Question Id : 22742717487 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768125. 1
22742768126. 2
22742768127. 3

22742768128. 4

Question Number : 8 Question Id : 22742717488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A relationship in which a less experienced learner acquires knowledge and skills under the quidance of an expert is known as:

1. Cognitive apprenticeship
2. Observable learning

3. Cognitive load

4 Cognitive science

Options :

22742768129. 1
22742768130. 2
22742768131.3

22742768132. 4

Question Number : 8 Question Id : 22742717488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768129. 1
22742768130. 2
22742768131.3

22742768132. 4

Question Number : 9 Question Id : 22742717489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Assessment of leaming is based on constructive feedback to enhance learning.

Statement (I1): The goal of Assessment of Learning is to provide summative grades at the end of the leaming process.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742768133. 1
22742768134. 2
22742768135. 3

22742768136. 4



Question Number : 9 Question Id : 22742717489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768133. 1

22742768134, 2
22742768135. 3

22742768136. 4

Question Number : 10 Question Id : 22742717490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Accarding to the principle of associationism of mental operation, which law states that one idea leads to another because in the
past they have occurred together in terms of either time or space?

1. Law of partial activity
2. Law of proximity

3. Law of mental set

4 Law of contiguity
Options :
22742768137. 1

22742768138. 2



22742768139. 3
22742768140. 4

Question Number : 10 Question Id : 22742717490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768137. 1
22742768138. 2
22742768139.3

22742768140. 4

Question Number : 11 Question Id : 22742717491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the types of longitudinal studies from the following
{A). Trend Studies

(B). Cross-sectional Studies

(C). Panel Studies

(D). Prospective Studies

Choose the correct answer from the options given below:

1. (A) and (D) only.

2. (A), (B) and (C) only.
3. (B), (C) and (D) only
4 (A), (C)and (D) only
Options :
22742768141. 1
22742768142. 2
22742768143. 3

22742768144. 4

Question Number : 11 Question Id : 22742717491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768141. 1
22742768142, 2
22742768143. 3
22742768144. 4

Question Number : 12 Question Id : 22742717492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In survey research, the tendency of a respondent to answer in predictable ways, independent of the question content, refers fo

1. Experimenter Bias

2. Measurement Bias

3. Response Bias

4. Psychosocial Effect
Options :
22742768145. 1
22742768146. 2
22742768147. 3

22742768148. 4

Question Number : 12 Question Id : 22742717492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768145. 1



22742768146. 2
22742768147. 3

22742768148. 4

Question Number : 13 Question Id : 22742717493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per UGC Regqulations 2018 on plagiarism, a faculty member will invite the penalty of denial of one annual increment, if in the
submission of & research publication, he/she commits plagiarism of level

Options:

22742768149. 1
22742768150. 2
22742768151. 3

22742768152. 4

Question Number : 13 Question Id : 22742717493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768149. 1



22742768150. 2
22742768151. 3
22742768152. 4

Question Number : 14 Question Id : 22742717494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A student's t-test would be useful in

(A). testing the significance of difference of two sample means
(B). testing the stationarity of a time series

(C). testing the significance of correlation coefficient

(D). testing the significance of a regression coefficient

(E). testing the goodness of fit of a model

Choose the correct answer from the options given below

1. (A), (B) ﬁﬂl[}{CrDr‘ly’

2. (B), (C)and (D) only

3. (A), (C) and (D) only

4. (A), (B), |D‘|and (E) only.
Options:

22742768153. 1
22742768154. 2
22742768155. 3

22742768156. 4

Question Number : 14 Question Id : 22742717494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768153. 1
22742768154. 2
22742768155. 3
22742768156. 4

Question Number : 15 Question Id : 22742717495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): A dependent variable can be dichotomous.

Statement (I1): An independent variable can never be dichotomous.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (I1) s false.
4 Statement (1) Is false but Statement (1) is true.

Options:

22742768157. 1



22742768158. 2
22742768159. 3

22742768160. 4

Question Number : 15 Question Id : 22742717495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768157. 1

22742768158, 2

22742768159. 3

22742768160. 4

Question Number : 16 Question Id : 22742717496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who, among the following, is identified as one of the pioneer authors to set semiotics as part of communication?

1. Irene Eber
2. Walter Lippman
3. Joseph Pulitzer
4 John Locke

Options :

22742768161. 1
22742768162. 2
22742768163. 3

22742768164. 4

Question Number : 16 Question Id : 22742717496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768161. 1
22742768162. 2
22742768163.3

22742768164. 4

Question Number : 17 Question Id : 22742717497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Indian communication concept is based on the centrality of in human interactions.

1. llusion

2. Language

3. One-sidedness
4. Catharsis

Options :

22742768165. 1
22742768166. 2
22742768167. 3
22742768168. 4

Question Number : 17 Question Id : 22742717497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768165. 1

22742768166. 2

22742768167. 3

22742768168. 4

Question Number : 18 Question Id : 22742717498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The study of concepts or connections with time, as a part of human communication, is known as

1. Proxemics

2. Kinesics

3. Chronemics

4 Haptics
Options :
22742768169. 1
22742768170. 2
22742768171.3

22742768172.4

Question Number : 18 Question Id : 22742717498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768169. 1
22742768170. 2
22742768171.3

22742768172. 4

Question Number : 19 Question Id : 22742717499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following physical environmental factors affect the communicatiors' behaviour during interaction?
(A). Smiling face

(B). Melodious voice

(C). Temperature

(D). Lighting conditions

(E). Loud noise

Choose the correct answer from the options given below:

.(A), (B)and

1. (A), ( ) only.
2.(B), (C)and
3.(C), (

(

(
(D) only
(E) only
B) and (E) only.

: EC‘. D) and
4 (A),
Options :
22742768173. 1
22742768174. 2
22742768175. 3
22742768176. 4

Question Number : 19 Question Id : 22742717499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427681731
22742768174. 2
22742768175. 3
22742768176. 4

Question Number : 20 Question Id : 22742717500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Every communication contains elements of both content and relationships.
Statement (I1): Eye behaviour does not provide metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) Is false.
4 Statement (1) is false but Statement (I1) is true.

Options:

22742768177.1



22742768178. 2
22742768179. 3

22742768180. 4

Question Number : 20 Question Id : 22742717500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768177. 1

22742768178. 2

22742768179. 3

22742768180. 4

Question Number : 21 Question Id : 22742717501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the given number series, determine the next term.

-7,-9,-1,7,23,7?, ...

o b T
o o O
n =~ M ka3

Options :

22742768181. 1
22742768182. 2
22742768183. 3

22742768184. 4

Question Number : 21 Question Id : 22742717501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

11T T Y@ H AT ug g R

T,50: 1,23 3, ...

i I
0 o h
fh =~ @ ka3

Options:

22742768181. 1
22742768182. 2
22742768183.3
22742768184. 4

Question Number : 22 Question Id : 22742717502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a coding scheme, the word 'SCHOOL' is coded as '72'. How will the word 'COLLEGE' be coded in this scheme?

L D
L R ]
= T

o
P

._lb..
[

Options :

22742768185. 1
22742768186. 2
22742768187. 3
22742768188. 4

Question Number : 22 Question Id : 22742717502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BTG AT H 'SCHOOL' T 1 72" 4 H BeXfae b1 91T €1 'COLLEGE' a5 1 8 AIoT § 8 etiad vl STTT?

Options:

22742768185. 1
22742768186. 2
22742768187.3

22742768188. 4

Question Number : 23 Question Id : 22742717503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



E51]

Given are two numbers whose ratio is 7:3. If '2'is added to each of them their ratio becomes 2:1. What is the sum of these two
numbers?

0

P —

=
J

A
4
2
4

a2

i

-

n

0

Options :

22742768189. 1
22742768190. 2
22742768191. 3
22742768192. 4

Question Number : 23 Question Id : 22742717503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TG 2 TISHT 1 3O 7 - 3 1 3% T & 2 ST o0 ) 3 S 2 1 81 S 81 34 &) Sl 1 v o 3

0

o I =m
i SR el T g )
. on

EN
(=]

Options:

22742768189. 1
22742768190. 2
22742768191.3

22742768192. 4

Question Number : 24 Question Id : 22742717504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Acando % of awork in 4 days and B can do g of the work in 15 days. Together, they will complete the work in

1 4idays

2. 5§days

3 8?11 days

4 ?%days
Options :
22742768193. 1
22742768194, 2
22742768195. 3

22742768196. 4

Question Number : 24 Question Id : 22742717504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A“Wsﬁrw%lmﬁqﬁ&h?eamgma%ﬁﬁm% TE 9 e 3 o &) foe Rt o e

144 fe

253 fed

38ifed

4731

Options :
22742768193. 1
22742768194, 2
22742768195. 3

22742768196. 4

Question Number : 25 Question Id : 22742717505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



How much water (free of cost) should be added to 18 litres of milk worth 370 per litre so that the value of the mixture is T80 per
litre?

1.2 litre
2. 3litre
3. 4litre
4 5litre

5
5
5
5

Options :

22742768197. 1
22742768198. 2
22742768199. 3
22742768200. 4

Question Number : 25 Question Id : 22742717505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

370 Wi iex S1d aT 18 TfieR g8 a1 o (H-3ees) v < o o &) ik <60 Wi <fieR &1 oe?

1.2l

2 3T

3. 47l

4 5T
Options:
22742768197. 1
22742768198. 2
22742768199. 3

22742768200. 4

Question Number : 26 Question Id : 22742717506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
(A). Feline

(B). Mammal

(C). Tiger

(D). Animal

Choose the correct answer from the options given below:

1.(C), (A), (B), (D
2.(C), (A), (D), (B
). (
). (

o

3. (D), (B), (A C:
4 (D), (C), (A), (B

—_

Options :

22742768201. 1
22742768202. 2
22742768203. 3
22742768204. 4

Question Number : 26 Question Id : 22742717506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fufeiad We-uqe! & 9%ad & ARG s H Haiyd DIT;
(A). [asa

(B). 1ot

(C). aTH

(D). T

I feu U fadbedl § U TEl SR 94 -

1.(C), (A), (B), (D
2 (C), (A), (D), (B
3. (D), (B), (A), (C
4. (D), (C), (A), (B

L S



Options :

22742768201. 1
22742768202. 2
22742768203. 3

22742768204. 4

Question Number : 27 Question Id : 22742717507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - In an inductive argument the truth of the premises does not show that the conclusion must be true

Reason (R) : If something has repeatedly happened in the past it makes it highly probable that the same thing will happen again
in future in the same circumstances but does not ensure it

In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A)is not correct but (R) is correct.

Options :

22742768205. 1

22742768206. 2

22742768207. 3

22742768208. 4

Question Number : 27 Question Id : 22742717507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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e e e

Options :

22742768205. 1
22742768206. 2
22742768207. 3
22742768208. 4

Question Number : 28 Question Id : 22742717508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following statement?
"People who lack humility have no sense of beauty because everyone who has a sense of beauty also has humility”.

1. Fallacy of Equivocation
2. Begging the Question
J. Fallacy of Composition
4 Hasty Generalisation

Options:

22742768209. 1
22742768210. 2
22742768211.3

22742768212. 4



Question Number : 28 Question Id : 22742717508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

oo U B B 1 a0 Q1Y 5 - "3 T oA T 7 aivTa g &, 37 - e el & i o e o e
YT 5, I oo g &0

1. 3T

2. AN Y

3 e

4, i T
Options :
227427682009. 1
22742768210. 2
22742768211.3

22742768212. 4

Question Number : 29 Question Id : 22742717509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

|dentify the formal fallacy committed in the following argument

" One way humanity could die out is, if the Sun stopped functioning. then we would surely go extinct. If we all go extinct. it must
have been because our Sun stopped working "

1. Denying the antecedent
2. Existential Fallacy

3. Exclusive Premises

4 Afiirming the consequent

Options :

227427682131
22742768214. 2
22742768215. 3

22742768216. 4



Question Number : 29 Question Id : 22742717509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 4 a1 ey dUheIy v @I " & AT i 1 0 11 T ¢ 15, 3G 0 o ) 5 G R
4t 9 i 5 ¥ foa &1 e o 5 el o &1 T 6, ) 91 RV & AN 0 9 e G o el

1. 53 a0 PNy §
2.9 ;&-';mfﬂa? ﬁaﬁ

3, TH R T

4 BadiH Ay gy
Options:
22742768213. 1
22742768214, 2
22742768215, 3

22742768216. 4

Question Number : 30 Question Id : 22742717510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : According to the Classical Indian school of logic (Nyaya) the argument- 'Sound is eternal because it is audible' is
fallacious.

Reason (R) : In the argument- "Sound s etemal because it is audible" the middle term is oo wide.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.

Options :



22742768217.1
22742768218. 2
22742768219. 3

22742768220. 4

Question Number : 30 Question Id : 22742717510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TRamARume: wa fieE @) IR W T (R) TR

YUY (A) : "G Y Fidl § Tl Tg Yod Biell & HIRd TR 010 Hd & SF9R T Jfdd Gvgyl |
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4. (A) T TRT 8, T (R) Wl &

Options :

22742768217. 1

22742768218. 2

22742768219. 3

22742768220. 4

Question Number : 31 Question Id : 22742717511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an Indian mobile payment app developed by the National Payments Corporation of India, based on the
Unified Payments Interface (UPI) that facilitates safe, easy and instant digital payments?

1. MyGov
2. UMANG
3. BHIM

4 PhonePe

Options :

22742768221. 1
22742768222. 2
22742768223. 3

22742768224. 4

Question Number : 31 Question Id : 22742717511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IR, T 9 T Feforcl T &1 T & i QTS UHed Sevtpd (qdiars) R o g 1 4 a8 &M 41 4Rl
AT 4T U0 & o8 Rl T80 4 o fo e fo 2

1. TR 7
2 T
3.4
4 BHY

Options:

22742768221. 1
22742768222. 2
22742768223.3

22742768224. 4

Question Number : 32 Question Id : 22742717512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements:

Statement (1): 1SPs provide the user with access to the Intemet (for a fee), whereas web browsers allow the user to view web
pages.

Statement (1): Each web page/site found matching the search criteria in a web search engine is known as a 'hit'
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4 Statement (1) is false but Statement (11} is true.

Options :

22742768225. 1
22742768226. 2
22742768227.3
22742768228. 4

Question Number : 32 Question Id : 22742717512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i & B RS

B - | 35 U9 O U el T Ul (e iR W R, e 4 S WAl b1 4 U G &1 gl € &
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1 T | 3R I GHI T 5

2 T | 3R 1| G S 8|

3 % | TR, lfe B || S 2|
4 B | 30 S, e B% || T 8|

Options:
22742768225. 1
22742768226. 2

22742768227. 3



22742768228. 4

Question Number : 33 Question Id : 22742717513 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
In the following MS-EXCEL spreadsheet you are given a list of 100 customers. Column ‘A’ represents their names, 'B' s for

customer category; 'C' for payment category (0 means discounted price and 1 means full price); 'D' indicates price that customer
pays. The list in the example spreadsheet below is not complete and simply shows different categories

A B c D
1 |Customr Name  (Customer Category ~ Payment Category  |Price (3)
2 [Raman Child 0 0
3 [Dinesh Adutt 1 5
4 |Jashan Adutt 0 2
101 |Amt Child 0 0

Statement (1) The formula = COUNTIFS(B2:B101,"Adult") counts all customers who are adults.
Statement (I1): The formula = COUNTIFS(B2:101,"=Adult”) counts all customers who are adults.
In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement () s true but Statement (1) Is false.
4 Statement () s false but Statement (If) Is true.

Options :

22742768229. 1
22742768230. 2
22742768231. 3

22742768232. 4

Question Number : 33 Question Id : 22742717513 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 TR Adut 0 2
101 Gt Child 0 0

BYF- 1 The formula = COUNTIFS(B2B101,"Adult’) T+ 7% e @1 0T e 3|

BYF- 11 The formula = COUNTIFS(B2:B101 "=Adult) ¥ 0% 71! o1 T0RT %l 3|
S BT o STl & T el B 8 W S
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4 T | 3T &, Tl & || T 8|

Options :

22742768229. 1
22742768230. 2
22742768231. 3

22742768232. 4

Question Number : 34 Question Id : 22742717514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following hardware components will lose data when the power to a computer is switched off?
(A). CPU Reqisters

(B). Cache Memory

(C). Main Memory

Choose the correct answer from the options given below:

1.(C) only

2. (A) and (C) only.
3. (B) and (A) only
4. (A), (B) and (C).
Options :
22742768233. 1
22742768234. 2
22742768235. 3

22742768236. 4

Question Number : 34 Question Id : 22742717514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HUeR 1 [95gd MYfd 96 U 9 R Fg § ¥ @H-aH U sream Y9! | < faqd ol a1

(A). 11 g1 g TR
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1 feu T fadedi § 9 9l S -

1. &dd (C)

2 &ad (A) IR (C)
3. &ad (B) 3R (A)
4 (A), (B) IR (C)

Options:
22742768233. 1

22742768234. 2



22742768235. 3
22742768236. 4

Question Number : 35 Question Id : 22742717515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List-l with List-Il

List List-I
(Type of -
Malware) (Description)

(A). Trojan— |(1). A program that replicates itself in order to spread to other computers and uses & computer network fo spread
Horse itself

(Il). Anon-self-replicating program containing malicious code that when executed. carries out actions, typically

B). Worm
o causing loss of data.

(C). Spyware  ((Ill). Atype of malware which restricts access to computer system fhat it infects, often demands a fee.

(D). (IV). A program that aids in gathering information about a person or organisation without their knowledge. For
Ransomware  |example, it detects key presses of the computer user.

Choose the correct answer from the options given below:

1.(A)- (1), (B)- (1), (C) - (V), (0) - (1)
2.(A)- (), B)- (1), (C)- (IV), (D) - ()
3. (A)- (I}, (B)- (1), (C)-(IV), (D) - (i)
4.(A)- (1), (B)-(IV), (C) - 1) (D) - ()
Options :

22742768237.1
22742768238. 2
22742768239. 3

22742768240. 4

Question Number : 35 Question Id : 22742717515 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 G-Il T oI ST

gat-
(AR &1 [t (fdaro)
HD)

(A). Sro B

(1). T8 WITH T GO HUEI dd e & 10 @ &I S Ieddl 8

AR T F e & i et Jead 1 iEn FEa 6|

(I1). T 1 7 Ser aren gu vy fored ve fAguy Fis g e

(B). o w1 Feifea fory o oX U9 &1 &l & 9 9eea: Sl & g9

FL A B

(Il1). HITTATR 1 98 YR ofl T0d GRI Hg/8d e Hund! dob

g & Wiasidd Hdl &, 9g41 e &1 A Far 6l

(IV). 98 W™ o1 {4l aufdd 91 976 &1 THSR! & (891 39y

(D) Yo [HEfid Yo UFH 34 H§ Heg S ¢ | ISIU WWE, I8 Huee
WiEal §RT GaTs 715 Hiord! &1 gal o adl &

-t feu U fadedl H 9 981 SR gHT -

1. (A) - (), (B) - (I, (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1lI)
3. (A) - (1), (B) - (1), (C} - (IV), (D) - (11}

— —

4. (A) - (D), (B) - (IV), (C) - (1), (D) - (IlI)

Options:

22742768237. 1
22742768238. 2
22742768239. 3
22742768240. 4

Question Number : 36 Question Id : 22742717516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) - Even when a solid waste is buried in landfills, it can still provide energy.

Reason (R) : Buried waste produces natural gas which can be captured and burned.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) s not correct but (R) is correct.

Options :

22742768241. 1
22742768242. 2
22742768243. 3
22742768244. 4

Question Number : 36 Question Id : 22742717516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768241. 1

22742768242. 2

22742768243. 3



22742768244. 4

Question Number : 37 Question Id : 22742717517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1): If Global average warming is limited o one or two additional degrees some regions will experience enhanced
agricultural productivity.

Statement (II): Beyond 2 °C to 3°C of global average warming, essentially all impacts become deleterious
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (1) are correct.
2. Both Statement (1) and Statement (Il) are incorrect
3. Statement (1) is correct but Statement (11) s incorrect

4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742768245. 1
22742768246. 2
22742768247. 3
22742768248. 4

Question Number : 37 Question Id : 22742717517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768245, 1

22742768246, 2

22742768247. 3

22742768248. 4

Question Number : 38 Question Id : 22742717518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following air pollutants has got very strong affinity towards hemoglobin of the human blood?

1. Carbon monoxide
2. Carbon dioxide
3. Nitric oxide

4 Nitrogen dioxide

Options:

22742768249. 1
22742768250. 2
22742768251.3

22742768252. 4

Question Number : 38 Question Id : 22742717518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768249. 1
22742768250. 2
22742768251. 3

22742768252. 4

Question Number : 39 Question Id : 22742717519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1): Composting is the aerobic degradation of organic materials by microorganisms mainly under controlled
conditions

Statement (II): Both macro and micro-organisms play important role in the composting process.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (1) is incorrect.
4 Statement (1) is incorrect but Statement (11} is correct.

Options :

22742768253. 1
22742768254, 2
22742768255. 3

22742768256. 4



Question Number : 39 Question Id : 22742717519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768253. 1
22742768254 2
22742768255. 3

22742768256. 4

Question Number : 40 Question Id : 22742717520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements:

Statement (1): Toxins that are rather dilute in the environment, can reach dangerous levels inside cells and tissues through the
process of bioaccumulation.

Statement (11): Bioaccumulation occurs when the foxic burden of a large number of organisms at a lower trophic level is
accumulated and concentrated by a predator in a high trophic level.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742768257. 1
22742768258. 2
22742768259. 3

22742768260. 4

Question Number : 40 Question Id : 22742717520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742768257. 1
22742768258. 2
22742768259. 3

22742768260. 4

Question Number : 41 Question Id : 22742717521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Simon commission set up a committee on education which was considered as a/an

1. University committee
2. Provincial committee
3. Auxiliary committee
4 Federal committee
Options :
22742768261. 1
22742768262. 2
22742768263. 3

22742768264. 4

Question Number : 41 Question Id : 22742717521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742768261. 1

22742768262. 2



22742768263. 3

22742768264. 4

Question Number : 42 Question Id : 22742717522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1945-49) laid stress on
(A). Religious education

(B). Changes in curriculum

(C). Women's education

(D). Rural universities

(E). Examination reforms

Choose the correct answer from the options given below

_(A), (B) and (C) only.
2 {A; and (D) only
Al and (E) only.

), (D) and (E) only.

(C)

(D)
4 {E!. (C)
Options:
22742768265. 1
22742768266. 2
22742768267.3

22742768268. 4

Question Number : 42 Question Id : 22742717522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768265. 1
22742768266. 2
22742768267. 3

22742768268. 4

Question Number : 43 Question Id : 22742717523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Education Policy (2020) foresees a wide use of disruptive technologies in the higher education
system.

Statement (1): The National Educational Technology Forum is expected to prepare a roadmap for integrating the disruptive
technologies into the education system.

In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.



Options :

22742768269. 1
22742768270. 2
22742768271. 3

22742768272. 4

Question Number : 43 Question Id : 22742717523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768269. 1

22742768270. 2

22742768271. 3

22742768272. 4

Question Number : 44 Question Id : 22742717524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The UN agency that took initiatives for introduction of environmental education was

FAO
UNICEF
UNDP
UNESCO

[ R L

e

Options :

22742768273. 1
22742768274. 2
22742768275. 3

22742768276. 4

Question Number : 44 Question Id : 22742717524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768273. 1
22742768274. 2
22742768275.3

22742768276. 4

Question Number : 45 Question Id : 22742717525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-ll

(Authors) (Treatises)
(A). Panini (). Mahabhasya

(B). Bhartrhari|(ll). Vaishishika-Sutras

(C). Kanada ((Ill). Vakyapadiya

(D). Patanjali [(IV). Ashtadhyayi

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (11}, (D) - (I}
2. (A) - (IV), (B) - (1), (C) - (11), (D) - (1)
3. (A) - (N, (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (IV), (B) - (II1), (C) - (1), (D) - (11}
Options :

22742768277. 1
22742768278. 2
22742768279. 3

22742768280. 4

Question Number : 45 Question Id : 22742717525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. (A) - (IV), (B) - (I1), (C) - (1), (D) - (1)
2. (A)-(IV), (B) - (1), (C) - (II), (D) - (1)
3. (A) - (1), (B) - (IV), (C) - (I, (D) - ()
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
Options:

22742768277. 1

22742768278. 2

22742768279. 3

22742768280. 4

Sub-Section Number : 3
Sub-Section Id : 227427687
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742717526 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions that follow:

For thousands of Delhites who have gone through the pain of Partition in 1947, it will be a walk down the memory lane when
they visit the world's second museum on Partition of India at Delhi's Dara Shikoh Library building. For their descendants, it will
be an opportunity to see what their parents and grandparents had suffered and a lesson in history about the world's largest
migration.

The purpose of the museum is o connect people with their past. It will also give visitors a sense of heritage. "History is important
and the young generation should learn from the past and should not repeat the mistakes." said the chairparson of the Arts and
Cultural Heritage Trust, Kishwar Desal. Lakhs of people were killed and displaced during Partition and people need fo remember
that such violence should never happen, she added.

Awooden sculpture of & horse Ioaded with skeleton and bones made in paper méche style by Kashmiri artist Veer Munshi
conveys the pain of people during the migration. In & few audio-visual clips, Delhi residents who decided to stay back narated
their experiences- what they saw, what happened to them, ihe day of Independence.

Rehabilitation was also not easy and this struggle has been depicted through a wooden "fallen house” made by Munshi. Even
when & person fries 1o resettle, his/er house has actually fallen apart, Desal pointed out.

Sub questions

Question Number : 46 Question Id : 22742717527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
The museum on Partition of India at Delhi's Dara Shikoh library building is

1. The one and only Partition Museum in the world
2. The first Partition Museum in the world

3. The second Partition Museum in the world

4 One of the many Partition Museums in the world

Options :

22742768281. 1
22742768282. 2
22742768283. 3

22742768284. 4

Question Number : 47 Question Id : 22742717528 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Why is history important for the young generation?

(A). to connect people to the past

(B). not to repeat mistakes made in the past

(C). to learn from the past

(D). to remember the past and to take revenge against those who caused the pain
(E). to remember that violence that occurred in the past should never happen again

Choose the correct answer from the options given below:

1. (B), (C) and (D) only

2. (C), (D) and (E) only

3. (A), (B), (C) and (E) only.
4 (A) and (E) only
Options :

22742768285. 1
22742768286. 2
22742768287.3

22742768288. 4

Question Number : 48 Question Id : 22742717529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Partition Museum is of value to the following:

(A). Visitors

(B). Youngsters

(C). Mathematicians

(D). Progeny of people who have gone through the pain of partition
(E) People who have experienced the partition

Choose the correct answer from the options given below:

1. (A), (B), (D) and (E) only.

2.(B), (C) and (E) only.

3. (A), (D) and (E) only.

4 (B), (C), (D) and (E) only.
Options :

22742768289. 1
22742768290. 2
22742768291. 3

22742768292. 4

Question Number : 49 Question Id : 22742717530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about the sculpture of the wooden horse are correct?
(A). The horse is loaded with goods of people.

(B). It has been made in paper méache style.

(C). It has been made by a Kashmiri artist.

(D). It shows a fallen horse.

(E). It depicts the pain experienced by the people during the partition migration.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (B), (C) and (E) only.
3. (B)and (C) only.

4 (C), (D) and (E) only.
Options :
22742768293. 1
22742768294. 2
22742768295. 3

22742768296. 4

Question Number : 50 Question Id : 22742717531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I); The museum at Dara Shikoh library tries to capture the pain of partition.

Statement (Il): Rehabilitation was not a struggle for the displaced migrants.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (I1) is incorrect.
4. Statement (1) is incorrect but Statement (1) is correct.

Options :



22742768297. 1
22742768298. 2
22742768299. 3

22742768300. 4

Question Id : 22742717526 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Question Number : 46 Question Id : 22742717527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



faecl & eR1 el Tasag Yaq § HRd & fausH IR 908y

1. 4% # U@ 3R Had Uo faqreH d641 gUeed 2|
2. fay B faurer Il uyn FuRea B

3. fay ¥ fayreH dee g Suead B

4. fay ¥ faurem 99t oo Sueied § ¥ Ud 2

Options :

22742768281. 1
22742768282. 2
22742768283. 3

22742768284. 4

Question Number : 47 Question Id : 22742717528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768285. 1
22742768286. 2
22742768287. 3
22742768288. 4



Question Number : 48 Question Id : 22742717529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
faHTSr Heitt SogTe [y e gegar g2

(A). SIFIgD]
(B). garaf
(C). Tiforait

(D). TGUTSIH &1 G2 e ardl arll & ag

oL

e feu T ol § 9 Ogt SR T

_\

1.@ad (A), (B), (D) 3R (E)
2 ®ad (B), (C) 3R (E)
3. ®ad (A), (D) 3R (E)
4. ®ad (B), (C), (D) 3R (E)

2

Options:

22742768289. 1
22742768290. 2
22742768291. 3

22742768292. 4

Question Number : 49 Question Id : 22742717530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768293. 1
22742768294. 2
22742768295. 3
22742768296. 4
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Correct Marks : 2 Wrong Marks : 0
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22742768297. 1
22742768298. 2
22742768299. 3

22742768300. 4
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Question Number : 51 Question Id : 22742717532 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742768301. 1
22742768302. 2
22742768303. 3
22742768304. 4

Question Number : 51 Question Id : 22742717532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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22742768301. 1
22742768302. 2
22742768303. 3

22742768304. 4
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22742768305. 1
22742768306. 2
22742768307. 3
22742768308. 4
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227427683009. 1
22742768310. 2
22742768311. 3

22742768312. 4

Question Number : 53 Question Id : 22742717534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

227427683009. 1
22742768310. 2
22742768311.3

22742768312. 4

Question Number : 54 Question Id : 22742717535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768313. 1
22742768314. 2
22742768315. 3

22742768316. 4

Question Number : 54 Question Id : 22742717535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768313. 1
22742768314. 2
22742768315. 3

22742768316. 4

Question Number : 55 Question Id : 22742717536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768317. 1
22742768318. 2
22742768319. 3

22742768320. 4

Question Number : 55 Question Id : 22742717536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768317. 1
22742768318. 2
22742768319.3

22742768320. 4



Question Number : 56 Question Id : 22742717537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

696 ORIT QEATEGER ‘TS AN 053 ?

Options :

22742768321. 1
22742768322. 2
22742768323.3
22742768324. 4

Question Number : 56 Question Id : 22742717537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768321. 1
22742768322, 2
22742768323. 3

22742768324. 4

Question Number : 57 Question Id : 22742717538 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 69094 QIGGE
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3. 6gC16@ gl
4. GRIAI

Options :

22742768325. 1
22742768326. 2
22742768327. 3
22742768328. 4

Question Number : 57 Question Id : 22742717538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768325. 1
22742768326. 2
22742768327.3
22742768328. 4

Question Number : 58 Question Id : 22742717539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768329. 1
22742768330. 2
22742768331. 3

22742768332. 4

Question Number : 58 Question Id

: 22742717539 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768329. 1
22742768330. 2
22742768331.3

22742768332. 4

Question Number : 59 Question Id

: 22742717540 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

22742768333. 1
22742768334. 2
22742768335. 3

22742768336. 4

Question Number : 59 Question Id : 22742717540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768333. 1
22742768334. 2
22742768335. 3

22742768336. 4

Question Number : 60 Question Id : 22742717541 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768337. 1
22742768338. 2
22742768339. 3
22742768340. 4

Question Number : 60 Question Id : 22742717541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768337. 1
22742768338. 2
22742768339. 3

22742768340. 4

Question Number : 61 Question Id : 22742717542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768341. 1
22742768342. 2
22742768343. 3

22742768344. 4

Question Number : 61 Question Id : 22742717542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:

22742768341. 1
22742768342. 2
22742768343.3

22742768344. 4



Question Number : 62 Question Id : 22742717543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768345. 1
22742768346. 2
22742768347.3

22742768348. 4

Question Number : 62 Question Id : 22742717543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742768345. 1

22742768346. 2



22742768347. 3

22742768348. 4

Question Number : 63 Question Id : 22742717544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768349. 1
22742768350. 2
22742768351.3

22742768352. 4

Question Number : 63 Question Id : 22742717544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768349. 1
22742768350. 2
22742768351. 3



22742768352. 4

Question Number : 64 Question Id : 22742717545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768353. 1
22742768354, 2
22742768355, 3
22742768356. 4

Question Number : 64 Question Id : 22742717545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768353. 1
22742768354. 2
22742768355. 3
22742768356. 4



Question Number : 65 Question Id : 22742717546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768357. 1
22742768358. 2
22742768359. 3

22742768360. 4

Question Number : 65 Question Id : 22742717546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768357. 1
22742768358. 2
22742768359. 3

22742768360. 4

Question Number : 66 Question Id : 22742717547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768361. 1
22742768362. 2
22742768363. 3
22742768364. 4

Question Number : 66 Question Id : 22742717547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Options :

22742768361. 1
22742768362. 2
22742768363. 3

22742768364. 4

Question Number : 67 Question Id : 22742717548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768365. 1
22742768366. 2
22742768367. 3
22742768368. 4

Question Number : 67 Question Id : 22742717548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768365. 1
22742768366. 2
22742768367.3

22742768368. 4

Question Number : 68 Question Id : 22742717549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
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Options :

22742768369. 1
22742768370. 2
22742768371.3

22742768372. 4

Question Number : 68 Question Id : 22742717549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768369. 1
22742768370. 2
22742768371.3

22742768372.4

Question Number : 69 Question Id : 22742717550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768373. 1
22742768374. 2
22742768375. 3

22742768376. 4

Question Number : 69 Question Id : 22742717550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768373. 1
22742768374. 2
22742768375.3
22742768376. 4

Question Number : 70 Question Id : 22742717551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768377. 1
22742768378. 2
22742768379. 3

22742768380. 4

Question Number : 70 Question Id : 22742717551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768377. 1
22742768378. 2
22742768379.3

22742768380. 4

Question Number : 71 Question Id : 22742717552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768381. 1
22742768382. 2
22742768383.3

22742768384. 4

Question Number : 71 Question Id : 22742717552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768381. 1
22742768382. 2
22742768383.3

22742768384. 4

Question Number : 72 Question Id : 22742717553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742768385. 1
22742768386. 2
22742768387. 3

22742768388. 4

Question Number : 72 Question Id : 22742717553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
5P 091665 15 5395 SaIR6R 6715 B GIR 7 60AI | el 657 AT SaRIes G 90 B 1 IFRases 97 5egRasn o 1 dol 6od
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Options:

22742768385. 1

22742768386. 2

22742768387. 3

22742768388. 4

Question Number : 73 Question Id : 22742717554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768389. 1
22742768390. 2
22742768391. 3
22742768392. 4

Question Number : 73 Question Id : 22742717554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768389. 1
22742768390. 2
22742768391.3

22742768392. 4

Question Number : 74 Question Id : 22742717555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768393. 1
22742768394. 2
22742768395. 3

22742768396. 4

Question Number : 74 Question Id : 22742717555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768393. 1
22742768394. 2
22742768395. 3

22742768396. 4

Question Number : 75 Question Id : 22742717556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768397. 1
22742768398. 2
22742768399. 3

22742768400. 4

Question Number : 75 Question Id : 22742717556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768397. 1
22742768398. 2
22742768399. 3

22742768400. 4

Question Number : 76 Question Id : 22742717557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768401. 1
22742768402. 2
22742768403. 3

22742768404. 4

Question Number : 76 Question Id : 22742717557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768401. 1
22742768402. 2
22742768403. 3
22742768404. 4

Question Number : 77 Question Id : 22742717558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768405. 1
22742768406. 2
22742768407. 3

22742768408. 4

Question Number : 77 Question Id : 22742717558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768405. 1
22742768406. 2
22742768407.3
22742768408. 4

Question Number : 78 Question Id : 22742717559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427684009. 1
22742768410. 2
22742768411.3

22742768412. 4

Question Number : 78 Question Id : 22742717559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

227427684009. 1
22742768410. 2
22742768411.3
22742768412. 4

Question Number : 79 Question Id : 22742717560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768413. 1
22742768414. 2
22742768415. 3

22742768416. 4

Question Number : 79 Question Id : 22742717560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768413. 1
22742768414. 2
22742768415.3
22742768416. 4

Question Number : 80 Question Id : 22742717561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768417.1
22742768418. 2
22742768419. 3

22742768420. 4

Question Number : 80 Question Id : 22742717561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768417. 1
22742768418. 2
22742768419.3
22742768420. 4

Question Number : 81 Question Id : 22742717562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768421. 1
22742768422. 2
22742768423. 3

22742768424. 4

Question Number : 81 Question Id : 22742717562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768421. 1
22742768422. 2
22742768423.3
22742768424. 4

Question Number : 82 Question Id : 22742717563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e
5*
=
=
=
ra
B
-c"\u
]
g7
1
o]
v}
&
s ¥
['=a]
(S]]
||'||
(=]
fey)
=[]
#
<)
=]
(=]
(= 1]
(=111
1z
=0

Options :

22742768425. 1
22742768426. 2
22742768427. 3

22742768428. 4

Question Number : 82 Question Id : 22742717563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768425. 1
22742768426. 2
22742768427.3
22742768428. 4

Question Number : 83 Question Id : 22742717564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768429. 1
22742768430. 2
22742768431. 3

22742768432. 4

Question Number : 83 Question Id : 22742717564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768429. 1
22742768430. 2
22742768431.3
22742768432. 4

Question Number : 84 Question Id : 22742717565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768433. 1
22742768434. 2
22742768435. 3

22742768436. 4

Question Number : 84 Question Id : 22742717565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768433. 1
22742768434, 2
22742768435.3
22742768436. 4

Question Number : 85 Question Id : 22742717566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768437. 1
22742768438. 2
22742768439. 3

22742768440. 4

Question Number : 85 Question Id : 22742717566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768437. 1
22742768438. 2
22742768439.3

22742768440. 4

Question Number : 86 Question Id : 22742717567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768441. 1
22742768442. 2
22742768443. 3

22742768444. 4

Question Number : 86 Question Id : 22742717567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768441.1
22742768442. 2
22742768443. 3
22742768444. 4

Question Number : 87 Question Id : 22742717568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768445. 1
22742768446. 2
22742768447. 3

22742768448. 4

Question Number : 87 Question Id : 22742717568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9E Q19141 (Formula tale) @ 9@ HQREQ 6263 ?

Options:

22742768445. 1
22742768446. 2
22742768447.3

22742768448. 4

Question Number : 88 Question Id : 22742717569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768449. 1
22742768450. 2
22742768451. 3

22742768452. 4

a0

Question Number : 88 Question Id : 22742717569 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768449. 1
22742768450. 2
22742768451.3

22742768452. 4

Question Number : 89 Question Id :

a0

22742717570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768453. 1
22742768454. 2
22742768455. 3

22742768456. 4

Question Number : 89 Question Id : 22742717570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768453. 1
22742768454. 2
22742768455. 3

22742768456. 4

Question Number : 90 Question Id : 22742717571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768457. 1
22742768458. 2
22742768459. 3

22742768460. 4

Question Number : 90 Question Id : 22742717571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742768457. 1
22742768458. 2
22742768459. 3

22742768460. 4

Question Number : 91 Question Id : 22742717572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768461. 1
22742768462. 2
22742768463. 3
22742768464. 4

Question Number : 91 Question Id : 22742717572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768461. 1
22742768462, 2
22742768463. 3
22742768464. 4

Question Number : 92 Question Id : 22742717573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

22742768465. 1
22742768466. 2
22742768467. 3
22742768468. 4

Question Number : 92 Question Id : 22742717573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768465. 1
22742768466. 2
22742768467. 3
22742768468. 4

Question Number : 93 Question Id : 22742717574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

C. Qlaore



Options :

22742768469. 1
22742768470. 2
22742768471. 3

22742768472. 4

Question Number : 93 Question Id : 22742717574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768469. 1
22742768470. 2
22742768471.3

22742768472. 4

Question Number : 94 Question Id : 22742717575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768473. 1
22742768474. 2
22742768475. 3

22742768476. 4

Question Number : 94 Question Id : 22742717575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768473. 1
22742768474. 2
22742768475. 3

22742768476. 4

Question Number : 95 Question Id : 22742717576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768477. 1
22742768478. 2
22742768479. 3

22742768480. 4

Question Number : 95 Question Id : 22742717576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768477. 1
22742768478. 2
22742768479. 3

22742768480. 4

Question Number : 96 Question Id : 22742717577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768481. 1
22742768482. 2
22742768483. 3
22742768484. 4

Question Number : 96 Question Id : 22742717577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768481. 1
22742768482. 2
22742768483. 3

22742768484. 4

Question Number : 97 Question Id : 22742717578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768485. 1
22742768486. 2
22742768487. 3
22742768488. 4

Question Number : 97 Question Id : 22742717578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768485. 1
22742768486. 2
22742768487. 3
22742768488. 4

Question Number : 98 Question Id : 22742717579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768489. 1
22742768490. 2
22742768491. 3

22742768492. 4

Question Number : 98 Question Id : 22742717579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768489. 1
22742768490. 2
22742768491. 3

22742768492. 4

Question Number : 99 Question Id : 22742717580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768493. 1
22742768494. 2
22742768495. 3
22742768496. 4

Question Number : 99 Question Id : 22742717580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768493. 1
22742768494. 2
22742768495. 3
22742768496. 4

Question Number : 100 Question Id : 22742717581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



()]
£
£
G
CH
e
8]
1)
)]
B

C. 960Y@ 9060 @6 ZGd ¢

D g66Ye Gp60 Ree6 S6aaIey QUL FERT

-]
23]

o
I Tl T MY W
W QYRGS SR

[

B

e (5

[

I Oy @ I

(=)

3G
5D
[ D

N =9

Options :

22742768497. 1
22742768498. 2
22742768499. 3

22742768500. 4

Question Number : 100 Question Id : 22742717581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768497. 1
22742768498. 2
22742768499. 3

22742768500. 4

Question Number : 101 Question Id : 22742717582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768501. 1
22742768502. 2
22742768503. 3
22742768504. 4

Question Number : 101 Question Id : 22742717582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(=5
-
I
]
o
]
)
i
=]
=}
iy
p]
3]
)
=1
&
(8]
o)
P
~
S}
8]
b}
(=]
|

Options :

22742768501. 1
22742768502. 2
22742768503. 3
22742768504. 4

Question Number : 102 Question Id : 22742717583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A FIRIQ

1.AGB
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4 AeD

Options :

22742768505. 1
22742768506. 2
22742768507. 3

22742768508. 4

Question Number : 102 Question Id : 22742717583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A FIRIQ

1.AGB
2BasC
3.C6D
4 AeD

Options :

22742768505. 1
22742768506. 2
22742768507. 3

22742768508. 4

Question Number : 103 Question Id : 22742717584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427685009. 1
22742768510. 2
22742768511. 3

22742768512. 4

Question Number : 103 Question Id : 22742717584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427685009. 1
22742768510. 2
22742768511. 3

22742768512. 4

Question Number : 104 Question Id : 22742717585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768513. 1
22742768514. 2
22742768515. 3
22742768516. 4

Question Number : 104 Question Id : 22742717585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AGB
2.BaC
3AGC
4 AeD

Options :

22742768513. 1
22742768514. 2
22742768515. 3
22742768516. 4

Question Number : 105 Question Id : 22742717586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768517. 1
22742768518. 2
22742768519. 3

22742768520. 4

Question Number : 105 Question Id : 22742717586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768517. 1
22742768518. 2
22742768519. 3

22742768520. 4

Question Number : 106 Question Id : 22742717587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768521. 1
22742768522, 2
22742768523. 3

22742768524. 4

Question Number : 106 Question Id : 22742717587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

C. Aldieeai

D. dg sshyai

Options :

22742768521. 1
22742768522. 2
22742768523. 3

22742768524. 4

Question Number : 107 Question Id : 22742717588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



696 9aF 65IT00Y Y9AIRIE TGRSR gae ?

Options :

22742768525. 1
22742768526. 2
22742768527. 3
22742768528. 4

Question Number : 107 Question Id : 22742717588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. 90 9eae 98l ariiel
C. @oaldl 68 8 04

D. QiE6y 2en@4)

Options :

22742768525. 1
22742768526. 2
22742768527. 3

22742768528. 4

Question Number : 108 Question Id : 22742717589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768529. 1
22742768530. 2
22742768531. 3
22742768532. 4

Question Number : 108 Question Id : 22742717589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768529. 1
22742768530. 2
22742768531. 3
22742768532. 4

Question Number : 109 Question Id : 22742717590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768533. 1
22742768534. 2
22742768535. 3

22742768536. 4

Question Number : 109 Question Id : 22742717590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768533. 1
22742768534. 2
22742768535. 3

22742768536. 4

Question Number : 110 Question Id : 22742717591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768537. 1
22742768538. 2
22742768539. 3
22742768540. 4

Question Number : 110 Question Id : 22742717591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768537. 1
22742768538. 2
22742768539. 3

22742768540. 4

Question Number : 111 Question Id : 22742717592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768541. 1
22742768542, 2
22742768543, 3
22742768544. 4

Question Number : 111 Question Id : 22742717592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768541. 1
22742768542. 2
22742768543. 3
22742768544. 4

Question Number : 112 Question Id : 22742717593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768545. 1
22742768546. 2
22742768547. 3
22742768548. 4

Question Number : 112 Question Id
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: 22742717593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768545, 1
22742768546. 2
22742768547. 3

22742768548. 4

Question Number : 113 Question Id : 22742717594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. odiQ eqig
B. 654% Q159

C. fleam QiEres



Options :

22742768549. 1
22742768550. 2
22742768551. 3
22742768552. 4

Question Number : 113 Question Id : 22742717594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768549. 1
22742768550. 2
22742768551. 3
22742768552. 4

Question Number : 114 Question Id : 22742717595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768553. 1
22742768554. 2
22742768555. 3

22742768556. 4

Question Number : 114 Question Id : 22742717595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768553. 1
22742768554, 2
22742768555, 3
22742768556. 4

Question Number : 115 Question Id : 22742717596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768557. 1
22742768558. 2
22742768559. 3
22742768560. 4

Question Number : 115 Question Id : 22742717596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768557. 1
22742768558. 2
22742768559. 3

22742768560. 4

Question Number : 116 Question Id : 22742717597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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G0 @08 9@ rdg 9999 9960E 80 99

D@m=

1

1LA-IV,B-IlLC-Ill, D-1
2A-1,B-I,C-1, D-IV
JA-ILB-I,C-1, D-IV
4 A-IV,B-1Il,C-1l, D-I

Options :



22742768561. 1
22742768562. 2
22742768563. 3

22742768564. 4

Question Number : 116 Question Id : 22742717597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1LA-IV,B-IlLC-Ill, D-1
2A-NLB-1,C-1, D-1IV
3A-IILB-,C-1, D-IV
4 A-IVB-Il,C-1l, D-1I
Options :

22742768561. 1
22742768562. 2
22742768563. 3

22742768564. 4

Question Number : 117 Question Id : 22742717598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W 9R 996 9 290 eada QUG Goded Qe |
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1L.A-ILB-IV.C-1, D-1
2 A-lILB-N,C-IV, D-I
JA-NLB-1,C-1v, D-II
4 A-1,B-IIlLC-1V, D-II
Options :

22742768565. 1
22742768566. 2
22742768567. 3

22742768568. 4

Question Number : 117 Question Id : 22742717598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. Feiaet easdl V. eREg 599
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1.A-ILB-IV,C-I, D-1I
2A-1,B-I,C-1V, D-I
JA-ILB-1,C-IV, D-II
4 A-1,B-1IlLC-1IV, D-II

Options :



22742768565. 1
22742768566. 2
22742768567. 3

22742768568. 4

Question Number : 118 Question Id : 22742717599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. aifil II. 1gI21sl 98 2260 s9I82Ig QI9e, FI9EE §F TRsT ARIsTR RS

C. eads lIl. g8 6918 g39sm a9y Fde, 2°2 g2l & ge 2FaN ag

D. ag6aa! SoIag I\ T SFasl, gFuR 85w 952 AT ol

1 A-[,B-I,C-lll, D-IV
2A-1ILB-IILC-IV, D-|
JA-LB-V,C-1, D-II
4 A-IVB-1,C-Il, D-1I
Options :
22742768569. 1
22742768570. 2
22742768571. 3

22742768572. 4

Question Number : 118 Question Id : 22742717599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. aiFil Il @igIeIsl aF 9960 6N IR, RIgEE §F Tase AR ST

C. egda! Il g4 eaig g@esn saey fda, o ool e ea aIFar ag

D. 55596l STIMIR V. JEA61 5219 59 9gael, 95E 259 @52 AT |2

Aed Go8 480 AU R9Ye R9eG 90 QA

1.A-I,B-II,C-lll, D-IV
2 A-1,B-1l,C-IV, D-1
JA-N.B-IV,C-1, D-Il
4 A-IV.B-1,C-1Il, D-1I
Options :
22742768569. 1
22742768570. 2
22742768571.3

22742768572. 4

Question Number : 119 Question Id : 22742717600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A-1L.B-IL.C-Il. D-IV
2 A-IlLB-1I,C-IV, D-|
3A-IILB-IV.C-1, D-Il
4A-IV.B-1,C-Il. D-II

Options :

22742768573. 1



22742768574. 2
22742768575. 3
22742768576. 4

Question Number : 119 Question Id : 22742717600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘D 28 996 ¢ 29g Kage 29°99 %c-';'ié‘::'ilél el

=S

=iste] L=t
A9l 38 2@ Og
B. AIGISE . geisa F4
C. € 1 210g (. se1Fe aig
D e age IV aif seigrde
G019 Qo8 gEe dug 2992 2900 36 @6

1LA-ILB-1ILC-Ill, D-IV
2 A-ILB-Nl,C-IV, D-I
3A-NL,B-IV,C-I, D-I
4 A-IVB-I,C-Il, D-1I
Options :

22742768573. 1
22742768574. 2
22742768575. 3

22742768576. 4

Question Number : 120 Question Id : 22742717601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1LA-ILB-N,C-1, D-IV
2A-IVB-I,C-1Ill, D-
3A-1LB-IIlLC-Il, D-IV
4 A-NIlLB-IV,C-Il, D-I
Options :

22742768577. 1
22742768578. 2
22742768579. 3

22742768580. 4

Question Number : 120 Question Id : 22742717601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A-ILB-1,C-1 D-IV
2 A-IV.B-1,C-1Il, D-Il
3A-1B-lLC-1l. D-IV
4 A-N.B-IV.C-Il. D-1

Options :

22742768577. 1



22742768578. 2
22742768579. 3

22742768580. 4

Question Number : 121 Question Id : 22742717602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1L.A-NI.B-II,C-IV, D-|
2ALB-IVCl, D-I
3A-ILB-lI,C-1, D-IV
4 A-IV B-1,C-Il, D-1I
Options :

22742768581. 1
22742768582. 2
22742768583. 3

22742768584. 4

Question Number : 121 Question Id : 22742717602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A-IILB-II,C-IV, D-|
2 A-llLB-IvV,Cl, D-I
3A-ILB-Il,C-1, D-IV
4 A-IV B-1,C-Il, D-1l
Options :

22742768581. 1
22742768582. 2
22742768583. 3

22742768584. 4

Question Number : 122 Question Id : 22742717603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
@ 9a 990 9 290 eada % Egla) Goddl @ |

‘e ar ‘o 2R

A dgsysn Heae || avde g

B. 68918 ARIEe §19% ||| g8c8 adgie!

C. a4l gelia . g AIedeg

D. 96% sAsm ga° V. 1291 o6 QISige!

G019 598 9@ fug 998 R86F 39 Qo

1LA-IV.B-IIl,C-Il, D-|
2A-IVB-Il,C-1, D-1
3A-1,B-ll,C-1l, D-IV
4 A-lll,B-IV,C-1l, D-I
Options :

22742768585. 1
22742768586. 2



22742768587. 3
22742768588. 4

Question Number : 122 Question Id : 22742717603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'@ 93 996 Y 296 RUYS 2°UW FRdd @6

@' ar o' 2R
A Qigeise yeai || a9de dg

B. 6899 ARIEs §197 ||| 3895 Qg8

C. a4l ganan . cngue Fiedee

D. 995 sAem 52 IV, #1991 5 QISige!
G019 998 9@ fdg R99e 2905 84 &8

1L.A-IV.B-IIlLC-Il, D-|
2A-WB-Il,C-1, D-1
3A-1,B-Il,C-1II, D-IV
4 A-1l,B-IV,C-Il, D-I
Options :

22742768585. 1
22742768586. 2
22742768587. 3

22742768588. 4

Question Number : 123 Question Id : 22742717604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W 9R 996 9 290 eada QUG Goded Qe |

‘D YR W L’
A GG |l g
B. @z |Il. qigg g
G
D.

aigl |l eaIas g
gel |IV. arda ge
Geld G0 gEFe g RUYe a0t 90 @

=]

1L.A-ILB-IV.C-1 D-1
2 A-lILB-I,C-1, D-IV
3A-IVB-Il,Cl, D-I
4 A-1.B-IV,C-Ill, D-
Options :

22742768589. 1
22742768590. 2
22742768591. 3

22742768592. 4

Question Number : 123 Question Id : 22742717604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
@ 9a 990 9 290 eada % Egla) Goddl @ |

‘" YR WL’
A g8 |l g
B. @z |Il. qigg g
G
D.

aigl |l eaIas g
gel |IV. arda ge
Geld G0 gEFe g RUYe a0t 90 @

=]

1L.A-ILB-IV.C-1 D-1
2 A-lILB-I,C-1, D-IV
3A-IVB-Il,Cl, D-I
4 A-1.B-IV,C-Ill, D-
Options :

22742768589. 1

22742768590. 2



22742768591. 3

22742768592. 4

Question Number : 124 Question Id : 22742717605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Y 2] 996 ¢ 990 99ge a6 F3a4 94

¢ e ¥ e
A @4 geid |l @96
B. @94 emaral Il. ase
C. sieaia |l ssass
D. fi94es N a9
Geld G8 gEe kg RUYe 2806 99 @6

1L.A-1LB-1ILC-Ill, D-IV
2 A-1LB-ll,C-1, D-IV
3A-NLB-IV,C-Il, D-I
4 A-IVB-1,C-Il, D-1I
Options :
22742768593. 1
22742768594. 2
22742768595. 3

22742768596. 4

Question Number : 124 Question Id : 22742717605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W 9R 996 9 290 eada QUG Goded Qe |

‘s YR o e
A @194 O9IE |l 99T
B. fie4 eneral Il. aise
C.
D.

FIRyesia (Il ISsass
Figyed IV, o9
0¢d T8 Q@9 CQ RUYe RL6E 94 Qa:

1.A-1LB-ILC-IIl, D-IV
2 A-ILB-ll,C-1, D-IV
3A-NILB-IV,C-Il, D-I
4 A-IVB-I,C-Il, D-1I
Options :

22742768593. 1
22742768594, 2
22742768595. 3

22742768596. 4

Question Number : 125 Question Id : 22742717606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
@ 9a 990 9 290 eada % Egla) Goddl @ |

‘T er B e

A GE0al |. di@

B. @=Gal . giEE1
C. QIgtal . o5

D. MiRFIdsEal (IV. a9

G019 598 9@ kg P9Ye R86E 39 Qo

1.A-IILB-1,C-IV, D-1I
2A-1.B-IV,C-1ll, D-1
JA-ILB-NIILC-I, D-IV
4 A-IV,B-Il,C-1, D-1l

Options :
22742768597. 1



22742768598. 2
22742768599. 3

22742768600. 4

Question Number : 125 Question Id : 22742717606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘D28 930 & 290 99ge 96 5394 94

¢ o o o
A SE6al | &g
B. @gual Il. agies
C. Q603 . 85
D. alscisisiEal |V, e

=
|

=]

1.A-NILB-1,C-IV, D-II
2A-1,B-IVC-lll, D=
3A-ILB-lI,C-1, D-1IV
4 A-IVB-Il,C-I1, D-1I
Options :

22742768597. 1
22742768598. 2
22742768599. 3

22742768600. 4

Question Number : 126 Question Id : 22742717607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Qe 9830 Felie 6aE QIAIge OF ?
A 9
B. Alicki 2109

C. Q@

)

o Sl
. 6iddlien digt

—_ a s
@ 280 GRICd @0

-]
e

[

1.A,B,C,D
2D CAB
3.B,CAD
4 ACDB

Options :

22742768601. 1
22742768602. 2
22742768603. 3

22742768604. 4

Question Number : 126 Question Id : 22742717607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Qe 984 Deglle s9F QIEgs O ?

o

L

[}

. 681G QIR

]
D
oo

i
&Gl

o EEE

[=3]
o4
Ty

1.A,B,C,D
2D CAB
3.B,CAD
4 A CD,B



Options :

22742768601. 1
22742768602. 2
22742768603. 3
22742768604. 4

Question Number : 127 Question Id : 22742717608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

QIRI9E Gle, 6RlIPRE, BRIy P16l 19° 6RWERIY] - datl UYyrlest emGiwe 4RI |

L

A QgL @EEE0I

Options :

22742768605. 1
22742768606. 2
22742768607. 3
22742768608. 4

Question Number : 127 Question Id : 22742717608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



QIPTE AT, SRIDITER, Q1RIT FIETIOR US° SARRRIEY - G0 AYRCISE fRdey AFIE |
A. IgQIE QEERR

B. agieee @4

C. oL Qld

D. @gaiel <14

Options :

22742768605. 1
22742768606. 2
22742768607. 3

22742768608. 4

Question Number : 128 Question Id : 22742717609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

6EGIE0 (9EU9a0 9FRI97 fda ea
A. 69" 699

B. @09 74Q 699

C. 9% 99 6ol

D. Qifgl 699



Options :

22742768609. 1
22742768610. 2
22742768611. 3
22742768612. 4

Question Number : 128 Question Id : 22742717609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

= - i~ - : = -
E@Slee (99a gfaIgs Gda Qa

el e U o e
J
I=
m

Options :

227427686009. 1
22742768610. 2
22742768611. 3
22742768612. 4

Question Number : 129 Question Id : 22742717610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR 6CIRRE F1906 §¢ G99 e g FEIRd Qe |
A. Q1GGEE Qigie 69Q1R 99 928
B. Qlsade A86 4mes JIea

C. QR ARER JTR6!

=

6wIldwles dalrida 6WQls g Qusl

Options :

22742768613. 1
22742768614. 2
22742768615. 3
22742768616. 4

Question Number : 129 Question Id : 22742717610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR 6CIRRE F1906 §¢ G99 e g FEIRd Qe |
A. Q1GGEE Qigie 69Q1R 99 928
B. Qlsade A86 4mes JIea

C. QR ARER JTR6!

=

6wIldwles dalrida 6WQls g Qusl

Options :

22742768613. 1
22742768614. 2
22742768615. 3
22742768616. 4

Question Number : 130 Question Id : 22742717611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Tllogdy, '@gdla’ E"_SEF_? "_SEF_?' 3 'gaiela 6919 @0 AewE UGt QECIeT A2 |
A 6d1RIgN geIa 8
B. @@9e {9

-

C. 918192 dvldg

=

1.A,B,C,D
2B,CAD
3. G AB D
4 DACB

Options :

22742768617. 1
22742768618. 2
22742768619. 3

22742768620. 4

Question Number : 130 Question Id : 22742717611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Tllogdy, '@gdla’ E"_SEF_? "_SEF_?' 3 'gaiela 6919 @0 AewE UGt QECIeT A2 |
A 6d1RIgN geIa 8
B. @@9e {9

-

C. 918192 dvldg

=

1.A,B,C,D
2B,CAD
3. G AB D
4 DACB

Options :

22742768617. 1
22742768618. 2
22742768619. 3

22742768620. 4

Question Number : 131 Question Id : 22742717612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768621. 1
22742768622. 2
22742768623. 3
22742768624. 4

Question Number : 131 Question Id : 22742717612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768621. 1
22742768622. 2
22742768623. 3
22742768624. 4

Question Number : 132 Question Id : 22742717613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR FAGCiEa QISYRIG GG 4l |

Options :

22742768625. 1
22742768626. 2
22742768627. 3
22742768628. 4

Question Number : 132 Question Id : 22742717613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR FAGCiEa QISYRIG GG 4l |

T ]
41°eT #4

T
e
dh

@l @Y
B. @ic1gIe £4

C. 9069129 fIR

Options :

22742768625. 1
22742768626. 2
22742768627. 3

22742768628. 4

Question Number : 133 Question Id : 22742717614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
QEFRIE AGAIL 'ROERILIET gEg 9w |

([ad]

A. @gQI9 gt

B. a51QIg



Options :

22742768629. 1
22742768630. 2
22742768631. 3
22742768632. 4

Question Number : 133 Question Id : 22742717614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

QAR ‘YRS

=0 [ v O o -
e
un)
o

Options :

22742768629. 1
22742768630. 2
22742768631. 3
22742768632. 4

Question Number : 134 Question Id : 22742717615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768633. 1
22742768634. 2
22742768635. 3
22742768636. 4

Question Number : 134 Question Id : 22742717615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742768633. 1
22742768634. 2
22742768635. 3
22742768636. 4

Question Number : 135 Question Id : 22742717616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[+

'FOIG 17 209K’ 96 SAIRTRIR 0gT JRINsERa @age 9F G8Iad @a |
A QiliFe sale-xel (Social Folk Custom)

B. godaie @@ (Performing Art)

C. eAlge QI (oral literature)

D. @g 94 (material culture)

e
e T,
&l FElEE Sl

-]

@

®l

1.A,B,C,D
2B,CAD
3. G AB D
4 C.DAB

Options :

22742768637. 1
22742768638. 2
22742768639. 3
22742768640. 4

Question Number : 135 Question Id : 22742717616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'TOIE 9F] S09R 96 SRAIRTRYIR 06T JRIseen 9098 g7 H81ad aa |
A QiliFe sale-xel (Social Folk Custom)

B. godaie @@ (Performing Art)

C. eAlge QI (oral literature)

D. @g 94 (material culture)

Options :

22742768637. 1
22742768638. 2
22742768639. 3

22742768640. 4

Question Number : 136 Question Id : 22742717617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(19169 G815 F96Y GRIBIGR |42 65159 9105 (Assertion) A §l68 42”2439 4% (Reason) R G167 540 GR/RR |
Q99! (Assertion) A GRR4I 1A 9124 & GIg) a0 87l Ga | 2akan 9“@!99@@ 12 Q160 CRI8E 54 |

(5 (Reason) R 6191, Q28109 ORTRKA A58 Al G185 9210 | 95045 521 42 3418, G2l S1RR G5RIF 636 <31 273 BIg ORRR SRR Uk 634
48 age |

QRIS 715 Q4 G G953 59 008 §08 g RAQR A8t o7 fdaea

1 ABRGER0R | R 6268 AQ 6Eg8 €

2 AGRGSED] IR Aw@qmwem|
3 ACRBRGR

4 AGQER 0l

Options:



22742768641. 1
22742768642. 2
22742768643. 3

22742768644. 4

Question Number : 136 Question Id : 22742717617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(6169 Q87 P9y GRICIGR 142 63159 05 (Assertion) A Gl6e 92 2439 4% (Reason) R 167 545 GR/1ER |

QR (Assertion] A R4 01R 1G4 @1 I8 05085 571 06| 2k0l0 g4 BRe 1@ ierase RwEe 94

7% (Reason) R QI8 GRUAIAG 004190 0F4 AIF QI96A G | r\E” U4 el ql QIR 6410 629 191 2619 BIRG B95R GIRS MIG4 FE41
é‘.?e QN |

AFCAIA AR L oA BRAA B 0260 ﬁF
96018 {13 QY alo Weal bY) g o {14l B o ea |

1 ABR @92 0% | R 6208 AQ G098 Q4M
2 ABR2e8 3: ‘R Ad B QUIBY H6e"|
3 AC"T\ R-:-‘*:':TJ

4 AGREROY

Options :
22742768641. 1
22742768642, 2
22742768643. 3

22742768644. 4

Question Number : 137 Question Id : 22742717618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



L=31]

3960 967 71294 TRIAIRE | 92)g 65IR QIR (Assertion) ‘A’ 6168 4¢° 8043 98 (Reason) R’ @l5e 350 @GICIGE |

=

A9l (Assertion) A - 49124 2°600 g Red 51 7 SIAER GawI faldel §d RI9EA QISR GaIE |
48 (Reason) R: 92a10 ¢Io4ae4 800 BaI0e6q 50154 66 960 2606061 98 1 592 AIRqa Al |
Q5018 A76Y 9R7 @360 B9 0eR 998 AYQ 9098 987 Ada ea |

1. AGR Q9% 09 | R 6268 A G 999 49y

2 ABR @& 05 | R 6208 A9 208 QY9 ¢ 064 |
3.AGR6R gl

4 AGm G R OR

Options :

22742768645. 1

22742768646. 2

22742768647. 3

22742768648. 4

Question Number : 137 Question Id : 22742717618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4160 987 (1994 QAICIRE | 9g9 63T QIR (Assertion) ‘A §I6R 9° BG459 & (Reason) R’ @I6S G4E @GICIGE |

QKI5 (Assertion) A - G42I24 26106 €186 98 ’6‘@@_ 7 Q158G G982y faldel $99 GILEE 2197 QRIKN |

J& (Reason) R: 9410 §I94g<Y Q07 BAILER AELIAT 6] 706 2606761 98 ¢ 999 AIRRa Q3 |
QUEAI 124 G2 G865 G 198 998 Adp 9998 985G odaeal

1. AGR GG 0F | R 6458 A G 9999 Q49

2 ABR @& 0% | R 6208 A9 809% QUigY ¢ 064 |
3 ADR6R §al

4 AGm G R OR

Options:

22742768645. 1

22742768646. 2

22742768647. 3



22742768648. 4

Question Number : 138 Question Id : 22742717619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

6168 985 A1y gQIe @aIdISE |

QY || 2rghe 295460 UIERTE 696651 995 260D QAITIRE, 2RI 8 QURQY 95 696551 §oT YaIUIR Qg |
a9ey I FIEe g8 gee AeRId FI0l AERY0 19 9Rar 6 81 r’I,_‘{“H'cr defatol deld @6iEh |
AUERIS (1964 9RGY 986A 0F 0F 99a 9RagH0 BPQ 904 eack Q1g |

0RA 99y | 8ERQY 1D
0@ 99y | B 694 |
61964 0] 671994 1| g9
6198 | 97 6 €18

[ L

=N

Options :

22742768649. 1
22742768650. 2
22742768651. 3
22742768652. 4

Question Number : 138 Question Id : 22742717619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



{168 985 7Ry J9I0 @RIdISE |
ey || 2rgee 96460 AR 6U66%1 Jog BISRID QAldIRR, 2ICH 6 QYeQY OB 696071 JoE GaRea |
a9y | 2IEe 96 9oe AeaIE 1ol AE6YR feg 9Fe 6 6I'a 6"I'€1‘Ej'4‘i' Z)R60 I8 @5l |

2a6aI2 F199Y 9a0q 9860 g 7Y 99a Ga8gER G0Q 90w 9R4C Q1T |

1 Q6e 294 | 6 a9e4 11 0]
2. @Wa (1294 | 8 9994 || iR
3. 619941 0] 6 41964 1| Q)
4 Q4] @R 6 (994 11 0R
Options :
22742768649. 1
22742768650. 2
22742768651. 3

22742768652. 4

Question Number : 139 Question Id : 22742717620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
G 996 11294 9910 QISR |
ey |- ARIE YIF6%IE SREISHIR QIFYR G54 AT QF G680 57 62IRdsR | 64 FQE AR gem |

aeey |l ¥& A9IIS 248G 6 Q1@ P8G Q1 2°A0R AIUSRIR BIgs, 2edl G199 G000 388 |

QU6AIR F199Y Qg 9360 0g §7 096 F989F0 G800 09YR 0R437 9IF |

Pag 0%y | 6 a3e4 11 0]

PR 1994 | 8 a9 1| 9R
362941 0q 6 (29 || 99
4 9294 | 95 6 999y 11 0]
Options:
22742768653. 1
22742768654, 2

22742768655. 3



22742768656. 4

Question Number : 139 Question Id : 22742717620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

]

¢J65: 9o 129

=
Lo}
=y
=
=)
(=]
w3
=]

£X]

ey |- ARIC WIFEUE SRLISTIR QIFYE B64 09 QF EE0 57 62IRgER | 64 FQ0 AR gem |

- s A it e L L T ¢ F o s = =
caey | 99 9IS 289 CIF6 dIR1Ee P9E Bl 9° 909 AIesle 2IgR, 2edl FILl Ue 9eR0 I8a |
QUERIe 199 9259 860 F 57 98 BR59ER B0g 9998 905 218 |

&= & “ - -8 L o

1. 908 9199 | 6 7964 11 0]
2. R 7129y | 8 A4 || 9R
3 ¢2ey |08 6 a=2ey |l @9
4. 51994 | 9R 6 F196Y 1| O]

Options :

22742768653. 1
22742768654, 2
22742768655. 3
22742768656. 4

Question Number : 140 Question Id : 22742717621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(19169 985 7Y A1 QalIeR |

03y | © ('o® 19l ghlR FIZEA AeRE0eR ) 504 1384 G5QYE G181 92y GoaR Kag5esa oelereR e aRaeg 1RE905 60919 ARG,
6AFIRG CKIp ZRIAP 6°5AR 010 B589 03506R |

1384 || QEIRIAIRR A9k 625 B8 27RgAR GI9) 0] 64 @A canien 5ol adgsal
BA6AIR A5RY 9309 §6A 6 7] 99 359¢9 H0Q 8979 85E @R |

1. 90 9394 6 09a4 11 0
.96 A9aY | 6 AR 11 ]
3018041 05 67304 1l 69
4,654 | 9 6 41584 11 08
Options :
22742768657. 1
22742768658. 2
22742768659. 3

22742768660. 4

Question Number : 140 Question Id : 22742717621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(19169 985 F9Y Q417 QAlIGE |

0304 | t'o® 131 GlR FIZEA AeRE0sR ) 504 91594 G5GYE G181 972 G8EieR Feasa oeiRren e aRaeg AgRER0% 690019 AIRCER,
GAFIRG CKIR TRIAP G5AE 010 8589 G5506R |

QY 1 GaIQIn g0 699 519 20R0AA 18I 2019 6614 0 6anlsn 503 ARk |
A04AIR 9104 99R9 860 64 79 09R 398959 859 6099 9965 98 |

1. Q6 4364 8 09G4 11 0]
.90 A0 | 6 059U 11 6]
3. 041 09 6 613 11 98
4,909 ] R 6 969411 0q
Options:
22742768657. 1

22742768658. 2



22742768659. 3

22742768660. 4

Sub-Section Number : 2
Sub-Section Id : 227427689
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742717622 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension

QOBAIB 256204 G0R &3 06 GAIIRYR 04 gRea aea & |

00410 GakIaln Saa 965 AT 990 230 AIER JIA0 95 20 ERIGMIR! 55 ARYARA R 219 TRRAR ﬁ%i??;@@o ORA6R G5 GaIgEN |
A250546R CARIRIGA 2815, G6A1R 6 AGENEA €1F9Y A2Ia RN J9RS1ARI 204 19057 0T0 ARIR D12IR 997 Q8 TRIA B8R 1 IFRLR! g5
Q0410 9564 940 PRAITTEA 99010 QY GRA 049 6RIREIER, RInd <8 90 45A A0 Seam 2 04 “{H@f 090 2120 2560
6159 10R4ta Bl 546 49 60 OAQIEA IR IRR 6R 2582 AT | 6RIRA4 nE—aIIRA GAIGA & 2RYRIG 3gawwuv A, 2419 84 § Aale qde
5 ROURIRAR 21 21RPSIG A60S 6 GGRAI0 QIR GRS AR AR GaKS 21364 606 2419 606 66A 6 6 ARGEAEA A0 620 62 230N 9609
- aang 2130 009 <28 2600 o | 35 BRGMA gk @\J\-@m 098454 219 EIRGRIRGA QR6YR 1GIARE GRIRIA BRI Al

019 SRIRGN 1415 9FIRA 905A06A GG0HIR TN Gkl 5 Aenl ¢@* GFGRAR QR0 BN @ 21D AR 6F 2RRA AT ERIAIAI

46" <919 Q%0 A 63810 Baad |

Sub questions

Question Number : 141 Question Id : 22742717623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768661. 1
22742768662. 2
22742768663. 3

22742768664. 4

Question Number : 142 Question Id : 22742717624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Q4R golt 9oEas AIE6Y AIU6q BIaetia @I0d @4 ?

Bl b |
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ERNeT YRR Fuar
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Options :

22742768665. 1
22742768666. 2
22742768667. 3
22742768668. 4

Question Number : 143 Question Id : 22742717625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YoIGENE AULTEYE nEs @6 ?
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Options :

22742768669. 1
22742768670. 2
22742768671. 3

22742768672. 4

Question Number : 144 Question Id : 22742717626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Jetee Q86 6 AR ATCY CrI JERT '8 2

["'\J
|_I‘|'|
E”‘:

1. gofene 28040 esady Maficds, ORGAIR ATGY A6 0BQERaTR!
2. gofaie 8060 aniea 9199 56 agld | gEFaIEIR AT6Isa g6% |

3. godens A@ey sgén 2°ady gae e, FFAISR ATy §

4. gaBens A1TeY a9 §ed @3 JETaIe AFY ag |

Options :

22742768673. 1
22742768674. 2
22742768675. 3
22742768676. 4

Question Number : 145 Question Id : 22742717627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768677. 1
22742768678. 2
22742768679. 3

22742768680. 4

Question Id : 22742717622 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

QD6AIB 26204 007 53 96% G210IR29) 04 gRea asa & |

OaGat Garaln Gaa 065 AT o3 43 GaIes 06! 67 YR Beleset G4l FRiAR] B 2R 9RGa19 26 6 L% ahh) 961 6aIREN |
aR5R6R BARIAIGA 2010, G4A1R 6 93010 BIde faip A geR 196 2646 214A60 3R 6910 012 957 O34 99 859 | AR 950
100419 254 990 IRSIRIZER JHRIe AERY GR0IEA (4P SRIRTIER, RI4 <4 43 995 RIS 255TH 2619 [5 4 60R g 08 430 2aew 192059
67159 9a541a 35l 556 19 60 HRAAIA IR 198 16 2582 A | 601299 SR04 GAI8K 6 24R1A GRB60 2°GIF G2 2018 o g aile 4Rl
& S0 clnile Tl 2l Hr6eal 8 0RR319 201 38 2591 91T 596 Q30N 504 29199 6061 9960 6 40 SREANIGA HIGR 606H 62 AT {6aKad
- aaR 29 00RIRY 18R a8ne 0 1§ 79 055AI91e Eny 75 il VHQ 259 DIRGRIRER 28R GlIng ‘NGISEI Bl a1,

G019 RREN | 421 2199 2088067 a0 Ak Jﬂ@ G Ry o T e iy ‘GIQ-MI R 2610 9464 20 BIRIRIR Q104 Gl
0" I A0 kg 698100 G650 |

Sub questions

Question Number : 141 Question Id : 22742717623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768661. 1
22742768662. 2
22742768663. 3

22742768664. 4

Question Number : 142 Question Id : 22742717624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Q4R golt 9oEas AIE6Y AIU6q BIaetia @I0d @4 ?

Bl b |

=

ERNeT YRR Fuar
 R1R0QITe9
QAAIFR g
IRIFR PRyRING
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o

Options :

22742768665. 1
22742768666. 2
22742768667. 3
22742768668. 4

Question Number : 143 Question Id : 22742717625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768669. 1
22742768670. 2
22742768671. 3

22742768672. 4

Question Number : 144 Question Id : 22742717626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Jetee Q86 6 AR ATCY CrI JERT '8 2

["'\J
|_I‘|'|
E”‘:

1. gofene 28040 esady Maficds, ORGAIR ATGY A6 0BQERaTR!
2. gofaie 8060 aniea 9199 56 agld | gEFaIEIR AT6Isa g6% |

3. godens A@ey sgén 2°ady gae e, FFAISR ATy §

4. gaBens A1TeY a9 §ed @3 JETaIe AFY ag |

Options :

22742768673. 1
22742768674. 2
22742768675. 3
22742768676. 4

Question Number : 145 Question Id : 22742717627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 ZG AIE6Y gml 9EIFE1R 698RI0Ig e
Options :

22742768677. 1
22742768678. 2
22742768679. 3
22742768680. 4

Sub-Section Number : 3
Sub-Section Id : 227427690
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742717628 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension

QAERIS 96399 T0% B3 06 GAAIRAE! 94 giea Aea &2 |

40406069 1029 351 294 ol lan 54260 3 9l 90 109UP 945 /R0 94, 69665965 6161 S B0l 69R 665 5417166 4@
13 991 6136 6219 S19960 ZjeRa 209 SRR 9RAIS, 604 e 43069 42 87 651Rq 2aidh 20840 | 108 6165 53R a5eY gkes
099 691 66901 6991 20669, 5YA R 591  01q @ QRI0R 2813 68 S3R160 @7t 1330, DAIRIRYSR SRR G010 €198 96536 20964
G108 JRRa10 691 994 9350 2300 69904 | 1A 2860 5960 4199 60 9120905 90965 6179 6519 6N Sash ereien! 0aga derle

GAIGE1, 1218198 AR50 22843 2088 GATARR | 73 Tue-0al, B0 068 Jhe Tl AR0%0 orkag 35494 3 5 7R 590w 940 a1Rag oo

A 2P Qe 15612 <8 RIRGIA 299KA R 9910 §3qA 60 ¢ae o nes 26 6A 6264 3R 160 aema g6d 60 36l ARk
GRaoR! Q4390 98- 43009 529 6013 550150 - 05 G160 381, 26069 Fo-310 990 4RI A a0 08RAIEH i 03eIg <2 A0k 698003
GR, 5T IR1 5195, 010 3619 5 2615Y 50K AGRR05 | D5eIRYGR <) GRIGG! S5 B GRIRY 591801 38 o6 1 odieenaka 9aiRe 60,

GRIBe! ﬁn@ 6999 937 dagadl |

Sub questions



Question Number : 146 Question Id : 22742717629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

QRNGTD QITIQ QLI ?

1. 6614 RINELAR ITTCET T3
2. 090 .6 ¢ 999 9136 9430 I3

3. 67142 6cI9Ia AER Baige Fal

4 g 99@ 6 QIFISYE6 21 9WegR 53

Options:

22742768681. 1
22742768682. 2
22742768683. 3

22742768684. 4

Question Number : 147 Question Id : 22742717630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 s 1y s e ; Sy oyl L
diNFE21g 2ty eRR QuIdaln SIes @'4 ?

1. 92194018 AgSY ResE0ea 9eed @GS a1F

2. 2Iglel ZIRYg OFSIRG @F 204 6eaY RIS QEIIRTISs
3. 991 9 9E9R6Ig AgeReIsa A% @0aIsa |

4. 91g FLACR o6 MEQI AIedy 959l RRIdIaIs. |

Options:

22742768685. 1
22742768686. 2
22742768687. 3

22742768688. 4

Question Number : 148 Question Id : 22742717631 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768689. 1
22742768690. 2
22742768691. 3

22742768692. 4

Question Number : 149 Question Id : 22742717632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IAGRIGY @'4 2

La b
o g oh

Options:

22742768693. 1
22742768694, 2
22742768695. 3

22742768696. 4

Question Number : 150 Question Id : 22742717633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768697. 1
22742768698. 2
22742768699. 3

22742768700. 4

Question Id : 22742717628 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

QAEAIS 296399 TR B3 969 G2IAIAEI 94 giea asa G2 |

6606959 Flneq £ "Qﬁ 2l Q12100 adladauea 5al gl "']*i“@@%@?@ SRR Q160 9150 94 62606967 Hid) i 95 6IR G 541718 48
216 5318 9IF0 6919 FI9660 ZRJere 27 GRS 2018, @661‘“ 6003 635 8515 20001k 29091 | 7199 5109 F3R 06RY 21964
290 6219 60901 6891 460 f@ el 1“@@|‘ 44 919 94 955195 2 8”2@@ R 9Aa0 20 91939, TRIRIRYER SRRt 5210 719G 06 0R0 20969
GIREIR GRRRe1 661 49 050 25050 62901 | 1410 ZAI980 9960 169 60 §180947 56301 0150 2R Pasagt Gleea orlareo g vinln
CUREN, Gl2l RIgq ?fi‘r?%‘ﬂ@@'? 8069 RG0I059 | 79 ge-54l 9584@‘?:" R0 Bala AR 97600 B5484 00 90 7R 5 195! e 54 G187 el

R4l adn Qe | Gl < ‘%IMmlalE”%”rl(‘lg 1l EJQ o6 o5el e aqes 98 20ea 6 298 934 JMG{EJ" 1498 4\&"5‘ 9‘3\ algia
guien QU @@-&-%Ig:?]ﬁ%ﬁ%l% 21950 - B3 €080 28l , 26769 SR8l “Clwu%um@? | ol oagel] P01 103 0240 6919947
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Sub questions

Question Number : 146 Question Id : 22742717629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IRNQOS QIRIQ QRIAN ?

1. 65143 IRIGERER NTTCER T
2 990 ¢ 6 Q U493 QIF6 S4E6 33
3. 6Q1414 6alRIa QLR da1ge O3
49 _]5;: 1 QIFYLYEe T2 gelets o9

Options :

22742768681. 1
22742768682. 2
22742768683. 3
22742768684. 4

Question Number : 147 Question Id : 22742717630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 v P rata Tal T TR T % R e
JINEE1E FUTELY BRL]R QRIdeio Jle Q'8 ?

1. 9QIQYINEG AGRY QFRIE6a U6 GRAISR GIF |

2. 2116l BGUg TFQIRE 95 21Tl 26adl ARG AUAIRTISE
3 991 9F 9F9W6Ig BgeRese U846 Q3ISa |

4. 4919 ULage 9F eudaler Ziede 9fal QRIAIGAISS |

Options :

22742768685. 1
22742768686. 2
22742768687. 3
22742768688. 4

Question Number : 148 Question Id : 22742717631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768689. 1
22742768690. 2
22742768691. 3

22742768692. 4

Question Number : 149 Question Id : 22742717632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768693. 1
22742768694. 2
22742768695. 3
22742768696. 4

Question Number : 150 Question Id : 22742717633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742768697. 1
22742768698. 2
22742768699. 3
22742768700. 4



